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Intro
Today we will 7”va learn X2 97 of 10 'ON DD By o/ﬂmwm o%
Some of the topics we will learn about include the following: Whﬁlt,S C0715id€7’€d an b_)N
A 1

77 "V's opinion of what is considered an 57, a tent

The process by which water was collected for the mm7x 119 The ];77'OC€.S S bl/ 'CU] 11 Ch

water was collected for
the DDYTR MO

Can a temporary dwelling inside a permanent dwelling affect
the status of one another.

Can a TEMPORARY dwelling
inside a PERMANENT dwelling
affect the status

Supporting 700 with something that can become x»>v

Supporting 15D
with something that
can become NDD

Some of the key terms and concepts we will learn about
include:

5IR - A tent. nRm from a corpse can be transferred when it is
under the same shelter with something that can become xnv. It
also can prevent i from being conveyed if the XMW is
confined to a valid tent.

7R 7170 - The red heifer. This cow was slaughtered and
burned and the ashes were sprinkled on people who had n ; > —[N nj D
become xnv from a corpse. The Rabbis instituted many

safeguards to prevent the people involved with collecting the
water from becoming RV,

D1NA 12p - A grave of the deep. This is a reference to the D ] jn 7 j 27
possibility that there is unknown xmv under the ground that is J J ‘

not visible.
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. 1PY2 V3P N7 00 - A 10910 needs to be a fixed dwelling.

Tn>% 71993 0N 715N nw - The casual conversation of 7150 ﬂ : ‘ D
o'»on, Torah scholars, require study. Even when a 0on 7150 /

engages in casual conversation, much can be learned from what
he says and the way he says it. zl’v: p:P nﬁ’ﬂ

PN/ '97\/£ W %4
5’//#%’)9/73
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. So let's review...

we learned in the mwn,
15 1IOR R DI 102 TORA NAN D3W 170 1377 P AT IR - N
737 e 4y
- T 7 says a bed is not an 51N, that separates a person from the LNl
910, MBI ARN QN WA
= & D' uBD
ALl

227 135 1918 89
DF/D’ ’7 W/Wée/

i NOT an o

The R now discusses how 7 "1 defines an 57X in general
and how that applies to his opinion regarding a 7270.

PN IN N9

In a mwn in mMSIR-

AT 9 says IR IPR DTR TP PR IR D3, any tent that is not AN P AN

DTN Y3 Y N SN &S
5N 9N

man-made with the intent of using it as an 57, is not considered
an Snx regarding the laws of nrm.

Pe?ar/m?/ the laws 0/5 2l

The X explains, the logic of 7 "7 is because he learns a

mw 1 from the 1wn. The word Y is used both in the context iJ:ﬁ. . amm

of IRmv and the building of the 7w, And just as the jown was The repetition of Learns a my N1
man-made with the intention to cover, so too a tent must be the word 5NN ﬁ‘Oﬂl the ]oWn
man-made to convey nRI.

The 1329, who argue with 77 "7 and say that the repetition of ol el

the word 5nr in the w19 of IRMIL comes to include even === Rt = Ny

naturally occurring shelters as well.

th: TR D NN 1::’:':2\’: T D BEN

L b x5 e
L miox oo L"*h‘w‘ N 2
Tncludos even =rg~h L

mfum[[?/ occurring Way man-made

ey

The X presents a contradiction in 777 "9's opinion.
Here, it seems that ONLY man-made tents can convey IR0, ?
L g

Another nJwn in MONN seems to imply

EVEN naturally created shelters
‘ CAN convey NNDID?
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‘ While another mwn in mbnx which describes the process for
obtaining the water needed for the 717X 179 process seems to . e yé/\/
imply that EVEN naturally created shelters can convey nxmv? o '
The mwn there states - Children were raised in an area where ARL 70 obtain water needed
they would never come in contact with Ix»v and they would /ar the Izt P20
retrieve the water in a manner that would prevent any ixm© S &
contamination. One of the many protections from nxmv was %‘i ‘\“‘@

that they placed the children on doors which had been placed on
the backs of oxen and these served as an 57 to stop any IRmI©
from ascending from below. Regarding this mwn a xn»12 |

S W
e
8

quotes N 1 who claimed they didn't use doors, but rather, the

children were placed directly on the oxen and these oxen , t

functioned as an 5nx. From here we see that 7M™ "3 considered

something natural, the oxen, as a valid 57x? the OXEN mey 7he, DOOR served ab an ot

ay am ot to stop any el
/m/w am/mgf
Something natural,
IS a valid 5nN?
The xama resolves this with a statement from *»°7 27 in the name

of 7YHr "7 that if the naturally occurring tent is at least X513
MM, the size of a large fist - incidentally w1 explains 1918 17N

moar 12 5w which was closer to the size of a human head - even M I W the
7™ "3 would agree that it is a valid 5nx. His disagreement with 0 é %
the 1327 is if the naturally occuring tent is only the size of a nov. natne % 2
O If the naturally occurring tent

is at least 9 R RHm?,
the size of a LARGE fist
P3N 13 55 W1 10N
Even nTim N would agree
it IS a valid 5NN
His /Weemenf with the )2 W
%Lf’yow%/%&wj@o%W/v/

A Rnmais quoted to support this P32 PO RWA T I T
q pp ] i

ohon,
AT 1 agrees that cavities from uprooted boulders and rock An?'IP
crevices are valid as an SnR. ity A Wa b))

2'pboR PRI e

Are valid ay an ot
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However, the X2 questions this explanation since the doors
they used would have been several fists above the ground. Why
would 77y "1 say they would not use doors and just use the
oxen. Ifthe space beneath the doors was larger than a fist,
777 would have agreed to their use as an Hnx?

The X2 has two answers.

"IN says 777 "1 means they didn’t need the doors but they
would have worked.

N2 says PHY 7o) 71N YW inyTw 10w, a child feels confident
sitting on top of a door because it's stable. There is concern they
might lean over the side where there was Ixmv and become
RV so A7 " said no doors should be used, but they are a valid
57R otherwise.

There is a Rn»72 to support X17's explanation. AR MR AT
IR TWRT ROZY ROW POV 703 P10 S0 npTw 21091 30 53 mnoT PrRan
TPIDMW DIRHI DINY PR?IH ROR DINN 1372 RO PIIRD TR
172 5P PAwY mpwnm man.

77 " said they would not bring doors at all because the
children feel confident when sitting upon them and we are
worried they might lean their head or another limb over the
edge and become xnv. Rather, they used Egyptian oxen who
had wide bellies and the children would sit on their backs.

Since the doors
woild have been
wuem[ Ay

above the yaam/

Why would nmin M say
they would NOT use doors
and just use the oxen?

£P2 s
PN S MNP 3En NTINM M means
oy moa they didn’t need
They might lean the doors
over the side where But 7%4?,
there was NNV would ve worked
So NO doory
should be wsed

Y M
el Faimite il
2P 95 b e v NS

YO O3 PN Sy e
PAINID TN I N R N

DIFIAT 93p2 NN
DYIRIN DMM NN KON
123 5P PR MPAM ManT oo
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N2 70D
. Since we have established that 77 " considers a naturally
formed structure to be an 57X when it's larger than a fist, why ’7
did he sleep under a bed in the 72107 There are several fists of -
space between the bed and the ground. It should be considered . o~ g
& separation! Since DT " considers a

naturally formed structure to be an 5NN
when it’s larger than a fist
Why did he
sleep under a bed
in the mo?

T shoudd boconsidired e
@ Waﬂoru/

The Xy answers that beds are different because their tops are

meant to be used whereas underneath the bed is NOT used ?
therfore it is not considered a valid 5nx. However the X702
counters that logic, since an ox is also meant to be used from the BEDS an OX

top so it's no different than the bed. Their TOPS are is also meant to be
. meant to be used  used from the TOP?
Underneatt the bed 7'y no /%éam
4 NOT considered than the bed
w valid 5,6

P27 came from E”Y and said in the name of 7tv5 ‘7 that oxen
are different because o177 5» oy, they protect the shepherds

underneath from sun and rain. The space underneath the oxen o the
are therefore valid as an 51X, The X3 persists and says that name af 2 ,@ &
beds also protect the shoes and sandals placed underneath them.

BEDS OXEN

Also protect the D oy o
shoes and sandals ~ Protect the shepherds

placed underneath? underneath
from sun and rain
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Therefore, X217 provides a different reason. Oxen are considered
an 51X because they constantly protect their internal organs. As
the P09 says 193100 O 7N MPVXY 335N W MY, with skin and
flesh Y ou have clothed me and with bones and sinews Y ou
sheltered me. This shows that a skeletal structure is considered
a ‘shelter’ as w1 points out the 7109 used the word XiHx 332700
75 9p Jo0.

However under the bed are not considered an 5nx because their
use is only occasional.

The X713 has another answer. 77 3 follows his nv*w that 7210
19Y2v3p N, anoo has to be permanent dwelling. Underneath
the bed is only a *X7p 77, a temporary dwelling. SR 'nR X5
»ap 578 S0 R, the temporary dwelling cannot nullify the
permanent dwelling so the bed does not separate a person from
the o0, And although pynw 1 also says va vap N7 710 yet
he says pap 5r 5011 'R SR NR, a temporary dwelling CAN
nullify a permanent one, it is this very point that 717’7 and 1
DYDY argue over.

kkhkkkkkhkk

The mwn» mentioned an incident involving *2v, the slave of 121
58513, The X3 presents a Rn»72 that records a longer version
of what pwy»w " said. He said %513 127 Sw inmrwn, from the
casual speech of 5513127 we learned two things. 1- A slave is
M09, exempt, from the Mz of 1210 and someone who sleeps
under a bed in a 750 has not fulfilled the mxm».

DafHachaim.org

Wzﬁr&, 22 ,mm/w
@ /%Zerw reasom. . .

OXEN
CAN be an 5nN
It protects the

BEDS

Are not an 5nN

internal organs
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yg/‘/
2YIptD SN 129 1m0 N
Dan bR KM T3P 2o RN
MDD |1 1D 2ApY PN
iel~ e alala WA R AR L)

An?’IP
JIVPW V'R RN

5RO13 127 YW Inrwn

D27 W TS
We learned 2 things. ..

1 2

A SLAVE is WD,
from N> MND

One who sleeps
under a bed
has NOT fulfilled
the mxn
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The X2 questions the use of the word 1w, his casual speech,
instead of the word 1727, his words. The X712 says 2R 12D
S"Op AR,

1w 1 teaches us something else by the way he taught the main
idea and that is 775 1973 0 P50 NPW 1>oRWY, even the
casual conversation of D'12m * 7m0 requires study.

*hkhkdhhd

WD T VINT

13071 TYH AN APR DR MR 7T I IWI 0NN VI 1IN0 JIon
19109 oz, If someone supports his 71210 up with the posts of a
bed, it's 7w>.

7T 3 says that if it cannot stand on it's own, it's 5109

khkkkkkkk

X137 and 5p1 72 RaR 17 disagree about the reasoning of '3
A7 to invalidate such a now.

One says such a 1210 is not fixed and 777’1 holds vap N7 7o
17v2. The other says the 700 of this 1210 is being supported by
something that could become x»v, and although we have only
learned that the 7ov itself cannot come from something that is
AR H3pn in this case since its main support is from something
that can become Xi>v Rashi says ARmIL 52710 7271 70 1R 10,
The difference between these reasons is 7201 %172 5w 70w yiw
oY, if someone drove iron spikes into the ground and put 700
over them. This sort of 1210 would be fixed so it's valid
according to that opinion in 777 '3 but the 700 is supported by
something that could become x»v so it would be invalid
according to the other opinion in 77 .

DafHachaim.org

The use o% the word 1on’e,
nstead 0”5 the word 17353

S FTIN 238 NN
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. 1) »ax clarifies 1 '7’s opinion in the mwmn. It's only a problem if
the 700 was supported by the bedposts. If the 700 was over the
bed itself so the boards of the bed form the walls of the 7310 but
the 700 was resting on a separate and fixed free-standing frame,
it would be qw>. This would be okay according to both opinions f% the boardy af the bed
in 77 . The frame is fixed so that issue is taken care of and /0 v the wally 0{/5 the Doyo
even according to the opinion that if the 750 is supported by )
something that can become Riv, it’s 9109, here the 790 is but the o0 was resting ow &

supported by its own frame made from something that cannot W %rw’ u‘ano/m?/ /m,m&

become Xnv.
WD

lla) The oD is supported

1'P2 Pap NI by something that
CAN'T become Np»
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